O+B
= -H
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1. Hauptbedingung: A

2. Nebenbedingungen: O=B+2s H2 +s?=B? s=B?-H?

O =B +2+/B° - H
(B+2~\/BZ—H2)+B.H

2

3. Zielfunktion:

A(H) =

Ay = ZBH2BT R (o ),

2
A(H) = (B 1B - HZ)-H
4. Extremstellen: Es ist zunachst die Produktregel anzuwenden.
u=B+ \/ﬂ v=H
!

u=8+(82-H)

U= s vi=1l

Es ist die Kettenregel anzuwenden.
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B2 _ H2 f=uv f=u-.v+uVv
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